0. 1-25. What value will come in place of the ques-
tion mark (7) in each of the following questions?

1. Ix844 _ 9

0x15-9

16 3 4
= ) "
(1) 3 2 > (3) 3
@> (5) None of these
2. 5112+ 426=1
(1) 22 (2) 1.2 (322
(4) iZ i ; (5) None of these
. _of—of —of 5760 =7

-G
(1) 9.6 (2) 95.5 (3) 96
4) 96.5 (3) None of these
A, 16% of G50 + 7% of 850 =172
(1) 20 2) 8 (318
(49 {5) None of these

5. 82.79-2587=72.79 -7
(1) 15.17 (2) 16.02 (3) 15.87

(4) 15.98 {3) None of these

8. ™ of 450 = 54

(1) 12 (2) 24.3 (318
4) 6 ~ (5)None of these

7. (15 -12)xd4=7

(1) 49 (2) 6 (3 81
4y 18 {5) None of these

B. 176x35+43=1"

(1) 71.79 (2) 80.06 (3) 80.87

i4) 137.28 (5) None of these
9. 45762 - J9826=7976-7

(1) 2030 (2) 2000 (3)2400
i4) 2210 (3) None of these

10. J1024 + 7 = 1600
(1) 64 (2) 24 (38
(4) 576 {53) None of these

1. 430+90=x 12=7
(1) 538 (2) 1510 (3) 5380
i4) 6240 (3) None of these

12. /2025 + 25 =7
(1) 81 (2) 9 (345
4) 3 {3) None of these

13. 135=9<3=7Tx25
(1) 1.5 (2) 0.25 (32

{4) 2.5 () None of these

14, 245576 + 21168 + G944 =7
(1) 2431.816  (2) 2430.624 (3)2431.028
(4) 2421.096  (5) None of these

250
15. 1188x 220 _»
18

(1) 16.50 (2) 155 (311927
4 165 (5) None of these

16. (87324 - FO576) % 1.5="7

(1) 1162.2 (2) 11622 (311372.2
(4) 1163.7 () None of these

17. 7776 = 18=x3=7

(1) 144 (211926 (311296
(4} 1266 i5) None of these

18. g of 25% of 740 = 7

{1} 121 2691 {31535
4 111 (5) None of these

19. 7 of (18% of 250 + 25% of 144) = 54

2 3 4

= 2 -
(1) 3 (2) 5 (3 9
@) % (5) Nane of these

20. V7-63=9°
(1) 12 (21144 (31324
(4) 128 i5) None of these

21. 91628 - 724 =T28.2 +7
(1} 115.86 (2) 125.68 (31 215.68
(4) 216.04 (5) Mone of these
18 +17x3=1

nl —=?
8-15=-3-1
{1y 17 (2) 26 (313
(4) 34 (5) None of these
23 331+ 19 x (15-11)x (37 +13) =7
(1} 70000 (204131 (3130250
(4) 20350 i) None of these
1 2 6 5
i il N el e
24. 12+13.{? =1
19
(1) 71.5 (20133 (3) '2—5;*'2-
19
4) — 3) None of these
( }]Eﬂ (3)
25. _x_+|[gx§]='?
2 8



3 15 3
(1) 96 (2) r (3 108
(4) % (3) None of these

20. AN INVESED @l dMOunt [or oree years ar a
simple interest rate of 9 p.c.p.a. He got an amount of Rs
19,050 at the end of three years. What principal amount
did he invest?

(1) Ks 14,500 (2)Rs 11,050 (3)Rs 15,000
(4} Rs 10,950  (5) None of these

27. 26 men can complete a piece of work in 17 days.
How many more men must be hired to complete the
work in 13 days?

i1 9 i2)8 (36
i4) 18 (53] None of these

28. Shilpa spent 8% on school fees, 23% on rent, and
17% on furniture. 25% of the remaining amount was
spent on medical bills and the remaining Bs 6,000 was
set aside for investment. How much money does she
spend on rent?

(1) Rs 3,750 2] Rs 6,000 (3) Rs 4,000
i4) Rs 3,250  (5) None of these

29. Mohan bought a cycle for Rs 475 and then sold
it at a loss of 8% of the cost price. For how much did he
sell the cycle?

(1) Rs 453 i21Rs 419 {3V Rs 441
i4) Rs 437 i5) None of these

30. If the sum of four consecutive even numbers is
228, which is the smallest of the numbers?

(1) 52 i2) 54 (3} 56
4) 48 (3) Mone of these

31. Avinash, Manoj and Arun started a business in
partnership investing in the ratio of 3 : 2 : 5 respective-
ly. At the end of the year they earned a profit of Rs
45,000 which is 15% of their total investment. How
much did Manoj invest?

(1) Rs 60,000 (2) Rs 1,80,000 (3) Rs 30,000
i4) Rs 90,000  (5) None of these

32. The average age of five officers in a department
is 32 years. If the age of their supervisor is added the
average increased by 1. What is the supervisor's age?

(1) 32 years (2) 48 years  (3) 38 years
i4) 42 years  (5) None of these

33. What is the cost of painting a hall whose area is
729 sg metres if the rate of painting per square metre
is Rs 287

(1) Bs 3042 (2)Rs 3,756 (3)Rs 3,024
i4) Cannot be determined (3) None of these

34. If the difference between the simple and the
compound interest earned on a sum of money at the
rate of 5 p.c.p.a. for 2 years is Rs 16. Find the principal.

(1) Rs 6,200 (2)Rs 6,400  (3)Rs 6250
i4) Cannot be determined {3) None of these

35. Amar started a business investing Rs 45,000, Six
months later Prakash joined him with Rs 30,000, In
what ratio should the profit they earn be distributed at
the end of the year?

(1) 3:1 (2)3:4 33:2
(4) Data inadequate (53) Mone of these
38. What will be the compound interest on an
amount of &s 5,000 for a period of 2 years at 8 p.c.p.a.?
(1) Rs 840 (2} Rs 400 (3)Rs 823
4) Rs 416 (5) None of these
37. If the difference between a number and two-
fifth of the number is 30. Find the number?
(1) 30 (2} 75 (3157
(4) 60 {3} None of these
38. A person subscribing to Sky Cable for a year
pays Rs 1,785, If the monthly subscription is Rs 175,
how much discount does a yearly subscriber get?
(1) 18% (2)11% (31 13%
4) 15% {3) None of these
39. Mahesh purchased three calculators and four
pen stands for Rs 2,140. He then purchased an addi-
tional calculator and five pen stands for Bs 1,335, How
much did he spend on purchasing only the calculators?
(1) Rs 1,575 (2}Rs 1,920 (3)Rs 1,440
(4) Rs 1,540 (5} None of these
40. A 175 metre long train crosses a 35 metre plat-
form in 12 seconds. What is the speed of the train in
km/hr?
(1) 42 (2) 64 (3163
4) 39 {3) None of these
41. Two candidates contested an election. If one got
520 votes which was 65% of votes, what was the total
number who voted?
(1) 858 (2) 702 (31780
(4) 734 (3) None of these
42, The labelled price of a product is Rs 750. If it is
sold at a 20% discount and the dealer earns a 23%
profit, what is the cost price?
(1) Rs 550 (2) Rs 450 (31 Rs 435
(4) Rs 480 {3} None of these
43. What is the interest received on a principal of Rs
450 for 2 years if the interest received on Re 1 after four
years at the same rate of simple interest is Rs 0,407
(1) Bs 90 (Z)Rs 180 (31 Rs 36
(4) Cannot be determined i5) Mone of these
a44. If the production of a factory grows at a rate of
8% p.a. what will be its production for the yvear 2006 if
its production in 2004 was 70 lakh tonnes?
(1)63.48 lakh tonnes  (2) 81.68 lakh tonnes
(3181 lakh tonnes (4) 80.68 lakh tonnes
(3) None of these
45. Computer A takes 3 minutes to process an input
while computer B takes 5 minutes. If computers A, B and
C can process an average of 14 inputs in one hour, how many
minutes does Computer C alone take to process one input?
(110 (204 36
48 {5) None of these
46, If a dividend of Rs 57,834 is to be divided
among Meena, Urmila and Vaishali in the proportion of
3:2: 1, find Urmila's share.
(1) Rs 19,281 (2)Rs 17,350 (3)Rs 23,133



(4) Rs 19,278
47. [t‘% of Sumit's salary isequal to % of Rajan's

i5) None of these

salary and their total salary is Rs 36,000, find Rajan's
salary.
(1) Rs 16,000 (2)Rs 20,000 (3)Rs 22,000
i4) Rs 14,000 (5] None of these
48. Il 54 sludents each contributes Rs G0, the
amount o buy new books for the library can be collect-
ed. If 9 students drop out how much additional amount
does cach student have to pay?
(1) Rs 18 (2) Rs 10 (3)Rs 12
i4) Cannot be determined i53) None of these
49, The ratio of managers 10 managemen! rainees
is 3 : 5. When 21 new managemen! lrainees are recruil-
ed the ratio will become 3 : 8 How many managers will
there be in the group?
(1) 27 (2) 24
i4) Cannol be determined i53) None of these

: 3 74 3 3

50. If the following fractions —, =, —, = and =

& B'5 12’5 §

are arranged in descending order which will be the last
in the series?

(3121

8 T 4
(1 13 (2) 3 (3 T
3 — 3
(4) E (3) E

ANSWERS AND EXPLANATIONS

1.{3) Ans% 2.(4) 303 4. (2 5.(3)
6.(1) 7.4 8.(3) 9, (3) Ans 2040
10.41) 1L (&) 12,0 13,03 14
15.(4) 16. (2 17.05  18.(  19.(D
20. (3} 21.(3) 22.(4) 231 24.1)

25.(3) Ans Ii'-j use BODMAS

26.(3) P = Ax100  _ 19050x 100
100+ R=xT 100+ 9x3
= Rs 15,000
27.(2) Men Days
26 17  Questions of inverse variation
X 13 Less days more men
2 26ix=13:17 5 x = 22X 34

More men must be hired= 34— 26 = 8

28.(3) Amount spent on school fees + rent and
furniture = (8 + 25 + 17)% of x ie. 50% of
X.

. Remaining = 30% of x = %

X225 X x
25% of —=(— x =)} = — spent on medicine
3 > {l{] b 2} 3 pe

29.(4)
A0.12)

ALn)

32.(3)

33.14)

34.1(2)

35.(1)

36.13)

7.

8. (4)

39.42)

40, (3)

41.(3)
42.14)

hills (x — total amount)

it X X
Rcm:unm.g—z—a— 3
= 6000 = x = 16000

Amount spent on rent = % = 16000

= Rs 4000
&R_CPKIIDI]—L%}_ 475 % 92
100 100
XpDe 2 Ay (x o 6)
=228 =+ x =04

Total investment = 45000 x %

— Rs 300,000

= Rs 437

Manoj's investment = 300,000

3+24+5
= Rs 60,000
Supervisor's age = 6x 33 5% 32
= 38 years
Ieight is mot given.
Area of lourwalls can’t be found out.

3 R Pxix2
Cl 51_P|{1+muf’ 11 s
2 P
=P{1l4+— | — =16
It 'mnF | 10 i
» P — Rs 6400

Ratio of profits — Ratio of investments
= 45000 x 12 : 30000 x 6
=3:1

8
CL=500010 —1] = Rs 832
@+ 0 Y1)

x—ix—3ﬂ—}x—3ﬂx§—5ﬂ

1753 x12 — 1785 = Rs 315 = Total discount
- Discount% = 2’]'_;] 100 = 15
Jx + 4y — 2140  x — Cost of calculator
X + 5y — 1355 y — Cost of a pen
Omn solving, we get x — 480
= Total costol 4 calculators
4 x 480 — Rs 1920

Speed of a train = 1?512-']5 m/ sec
@xl—skmf’hr
12 >
=63 km / hr
6% of x = 520 = x = 800
oy MPx(100-d) __. 80 _
S.P. o0 ?Jﬂxﬁ Rs 600
, i 100
L o ﬁmxlzs Rs 480

(Contd on page G9)






43.()  1x100 .40 x100

S T bk N
450 x 10 x2
Regd 1= DUXIDXE._ poop
4.5 1 100

Production in 2006

8
=70 lakh t s (1 4+ —)°
a onnes ( llﬂﬂl

— 81.648 lakh tonnes
45_(5)

Computer A processe i—ﬂ iLe. 120 inputs in
1 hour

60 3 :
Computer B processs 5 = 20 inputs in

1 hour
Inputs processed by A, B, C in 1 hour
=14x3 =42
.. Inputs processed by C in 1 hour
=42 - (204 12) =10

60

46.(4) 1
Computer C alone takes T ?E min utes

47.(2) to process an input
Let Rajan's salary be Rs x

1 : 2x
+ = Sunita's salary = —
S ry 5

.. Sunita's salary = 4?“
Ratio of Sunita's and Rajan's salary
4x
=— X =4:5
5 X

Rajan's salary = g x 36000 = Rs 20,000

54 x 60
48.(3) Reqd. amount = A9 Rs 72
- Additional amount =72 —60=12

3x 3 . s Rl
49.(3) 5% + 21 =E=‘x=?,_MdﬂagerE—3?{—2l

Change in decimals
50.(1)







